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QUESTION 1

In the IBM SOA Reference Architecture, the service registry should be logically located with which other component? 

A. Access Services 

B. Process Services 

C. Infrastructure Services 

D. Enterprise Service Bus (ESB) 

Correct Answer: D 

 

 

QUESTION 2

Which people, organizational or technology factors would positively impact the readiness for SOA and its success? 

A. Excess hardware capacity 

B. Short-term revenue expectations 

C. Business unit executives avoid disruptive innovations 

D. Business partners that have the necessary skills and capabilities 

Correct Answer: D 

 

 

QUESTION 3

A dealer in rare and antique books is interested in streamlining their business process. Bottlenecks occur when dealing
with inventory and shipping functions in the process. 

How can the dealer optimize this process? 

A. Create a new application to deal with the bottlenecks. 

B. Replace legacy systems with more advanced technology. 

C. Automate the manual steps so that the process is easier to monitor. 

D. Provide multiple paths through the process for some of the functions. 

Correct Answer: D 
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QUESTION 4

Which statement describes a business process in the context of SOA? 

A. It is a business policy or decision procedure. 

B. Items are accumulated and then processed together. 

C. It is a series of tasks connected together like building blocks. 

D. It enables interactions between message consumers and providers. 

Correct Answer: C 

 

QUESTION 5

Access services represent which vital function in the IBM SOA Reference Architecture? 

A. Distributed role-based access control mechanisms 

B. Connectivity with existing and legacy functionality 

C. Additional security at gateway points between domains 

D. Services exposed across different business units or organizations 

Correct Answer: B 

 

 

QUESTION 6

In a growth industry, what is the most effective technique to secure executive sponsorship from a line of business for a
company\\'s adoption of SOA? 

A. Present the IT savings that can be achieved via an SOA-based reuse strategy. 

B. Emphasize the significant market acceptance of SOA as the new standard architectural style. 

C. Focus on the rate of change in the industry and the need for business agility to take advantage of these marketplace
changes. 

D. Send the executive the recent article describing a competitor\\'s SOA success that has just been published in the
latest issue of an industry trade magazine. 

Correct Answer: C 
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QUESTION 7

Which two statements describe characteristics of SOA? 

A. Multiple business units host the same service to ensure maximum reuse and availability. 

B. Maximum reuse is achieved by ensuring services are generic so that the same service serves many different
business tasks. 

C. Existing APIs are exposed over new technologies such as Web services and Enterprise Service Buses (ESB) to
increase business flexibility and agility. 

D. Programming by contract ensures the service consumer can be unaware of the implementation details of the service
provider facilitating loose coupling. 

E. Through layered abstraction over the implementation and runtime details, it is possible to provide software resources
that give the right balance between reuse and specificity. 

Correct Answer: DE 

 

QUESTION 8

Organizations that do not adopt SOA will experience which outcome? 

A. The adoption of Web 2.0 technologies will be more problematic. 

B. Outsourcing non-core business functions will become impractical. 

C. The potential value of existing IT assets will not be fully realized. 

D. The implementation of Web services to handle real-time transactions will not be possible. 

Correct Answer: C 

 

QUESTION 9

When services are identified based on isolated applications rather than the business, which problem may result? 

A. Rogue Services 

B. Duplicate Services 

C. Shelfware Services 

D. Application Services 

Correct Answer: B 

 

 

QUESTION 10
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Why is reusability an important aspect to promoting agility in SOA? 

A. Services often represent functions in an SOA. 

B. Existing applications may serve as the basis for service interfaces. 

C. The interface of a service allows it to be integrated into additional processes without changes. 

D. Service interface details may be defined at a high level according to anticipated business requirements. 

Correct Answer: C 

 

QUESTION 11

What is one architectural principle surrounding SOA? 

A. Inheritance 

B. Encapsulation 

C. Cross-cutting concern 

D. Focus on messaging strategies 

Correct Answer: B 

 

QUESTION 12

Which is an architectural characteristic of SOA? 

A. An emphasis on standards 

B. Utilizing Web services to access all business functionality 

C. An Enterprise Service Bus (ESB) with an emphasis on Web services 

D. An Enterprise Service Bus (ESB) with an emphasis on XML messaging 

Correct Answer: A 
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